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Fourier Series

f (x) = a0 + ∑
k=1

∞

(a k cos kx + bk sin kx)

a0 = 1
2π ∫−π

+π
f (x) dx

a k = 1
π ∫−π

+π
f (x) cos kx dx

bk = 1
π ∫−π

+π
f ( x) sin kx dx

k = 1, 2, 3, ... one-sided spectrum
only positive frequencies
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Trigonometric Identities

cosθ cosϕ = 1
2 (cos (θ − ϕ) + cos(θ + ϕ))

sinθ sin ϕ = 1
2 (cos(θ − ϕ) − cos (θ + ϕ))

sinθ cos ϕ = 1
2 (sin (θ + ϕ) + sin (θ − ϕ))

cosθ sin ϕ = 1
2 (sin (θ + ϕ) − sin (θ − ϕ))

1
2 (1 + cos(θ + ϕ)) when θ=ϕ

1
2 (1 − cos(θ + ϕ)) when θ=ϕ

1
2 (sin(θ + ϕ)) when θ=ϕ

1
2 (sin(θ + ϕ)) when θ=ϕ

∫−π

+π
sin n x cosm x dx = 0

∫−π

+π
cos n x sinm x dx = 0

∫−π

+π
cos n x cosm x dx = 0 (n ≠ m)

∫−π

+π
sin n x sinm x dx = 0 (n ≠ m)

∫−π

+π
cosn x cosm x dx = π (n = m)

∫−π

+π
sin n x sinm x dx = π (n = m)
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Trigonometric Orthogonality

a k ← f ( x)⋅cos k x = a0⋅cos k x + ∑
m=1

∞

(am cosm x⋅cos k x + bm sinm x⋅cos k x)

f ( x) = a0 + ∑
k=1

∞

(a k cos kx + bk sin kx)

a0 = 1
2π ∫−π

+π
f (x) dx

a k = 1
π ∫−π

+π
f (x) cos kx dx

bk = 1
π ∫−π

+π
f ( x) sin kx dx

k = 1, 2, 3, ...

bk ← f (x)⋅sin k x = a0⋅sin k x + ∑
m=1

∞

(am cosm x⋅sin n x + bm sinm x⋅sin k x)

∫−π

+π
sin n x cosm x dx = 0

∫−π

+π
cosn x sinm x dx = 0

∫−π

+π
cosn x cosm x dx = 0 (n ≠ m)

∫−π

+π
sin n x sinm x dx = 0 (n ≠ m)

∫−π

+π
cosn x cosm x dx = π (n = m)

∫−π

+π
sin n x sinm x dx = π (n = m)
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Any Period p = 2L

a0 = 1
2π ∫−π

+π
g (v) dv

a k = 1
π ∫−π

+π
g (v) cos kv dv

bk = 1
π ∫−π

+π
g (v) sin kv dv

k = 1, 2, ...

g (v) = a0 + ∑
k=1

∞

(ak cos kv + bk sin kv)

v : [− , ] x : [−L , L ]

v = 
L

x

dv = 
L

dx

a0 = 1
2L ∫−L

+L
f (x) dx

a k = 1
L ∫−L

+L
f (x) cos k π x

L
dx

bk = 1
L ∫−L

+L
f (x) sin k π x

L
dx

k = 1, 2, 3, ...

f (x) = a0 + ∑
k=1

∞

(ak cos
k π
L

x + bk sin
k π
L

x)
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Time and Frequency

a0 = 1
T ∫0

T
x( t) dt

a k = 2
T ∫0

T
x (t) cos 2π k t

T
dt

bk = 2
T ∫0

T
x (t ) sin 2π k t

T
dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos
2π k
T

t + bk sin
2π k
T

t)

2 L = T

Continuous Time Periodic Signal x t 

a0 = 1
2L ∫−L

+L
f (x) dx

a k = 1
L ∫−L

+L
f (x) cos k π x

L
dx

bk = 1
L ∫−L

+L
f (x) sin k π x

L
dx

k = 1, 2, 3, ...

f (x) = a0 + ∑
k=1

∞

(ak cos
k π
L

x + bk sin
k π
L

x)

x : [−L , L ] t : [0, T ]
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Harmonic Frquency

a0 = 1
T ∫0

T
x( t) dt

a k = 2
T ∫0

T
x (t) cos (2π k f 0 t) dt k = 1, 2, ...

bk = 2
T ∫0

T
x (t ) sin (2π k f 0 t) dt k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(2π k f 0 t) + bk sin(2πk f 0 t))

f 0 = 1
T

f n = n f 0 = n 1
T

t : [0, T ]

a0 = 1
T ∫0

T
x( t) dt

a k = 2
T ∫0

T
x (t) cos 2π k t

T
dt

bk = 2
T ∫0

T
x (t ) sin 2π k t

T
dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos
2π k
T

t + bk sin
2π k
T

t)

t : [0, T ]

resolution frequency

n-th harmonic frequency
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Radial Frequency

f

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (kω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (kω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
n=1

∞

(ak cos(kω0 t ) + bk sin(kω0 t))

t : [0, T ]

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k 2π f 0 t) dt k = 1, 2, ...

bk = 2
T ∫0

T
x (t ) sin (k 2π f 0 t) dt k = 1, 2, ...

x( t) = a0 + ∑
n=1

∞

(ak cos(k 2π f 0 t) + bk sin (k 2π f 0 t ))

t : [0, T ]

linear frequency

angular (radial) frequency ω = 2π f
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Complex Fourier Series Coefficients

a0 , a k , bk , k = 1, 2, ...

A 0 = 1
T ∫0

T
x t  dt

t : [0, T ]

Real coefficients

Complex coefficients

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t))

t : [0, T ]

x(t ) = A0 + ∑
k=1

∞

(Ak e
j k ω0 t + Bk e

− j kω0 t)

Ak = 1
T ∫0

T
x (t) e− j kω0 t dt

B k = 1
T ∫0

T
x (t) e+ j kω0 t dt

A0 , Ak , Bk , k = 1, 2, ...

one-sided spectrum

two-sided spectrum

only positive frequencies

Both pos and neg frequencies
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Euler Equation (1)

e j t = cos t  j sin t

cos t = e j t  e− j t

2

e− jt = cos t − j sin t

sin t = e j t − e− j t

2 j

=
(ak − j bk)

2 e j kω0 t +
(ak + j bk )

2 e− j kω0 t

x(t ) = A0 + ∑
k=1

∞

(Ak e
j k ω0 t + Bk e

− j kω0 t)

a k cos(kω0 t ) + bk sin(k ω0 t)

= ak
1
2 (e j k ω0 t + e− j kω0 t) + bk

1
2 j (e j k ω0 t − e− j k ω0 t)

= Ak e
j kω0 t + B k e

− j k ω0 t

A0 = a0

Ak = 1
2

(ak − j b k)

Bk =
1
2

(ak + j b k) on
ly

 p
os

iti
ve

 
fre

qu
en

ci
es

pos freq

neg freq

zero freq

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t))
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Euler Equation (2)

Ak = 1
T ∫0

T
x (t) (cos (k ω0 t) − j sin (k ω0 t)) dt

B k = 1
T ∫0

T
x (t) (cos (k ω0 t) + j sin (k ω0 t)) dt

A n = 1
T ∫0

T
x t  e− j n0 t dt

Bn = 1
T ∫0

T
x t  e j n0 t dt

x(t) = ∑
k=0

∞

(Ak e
+ j kω0 t + Bk e

− j kω0 t )

Ak = 1
T ∫0

T
x (t) e− j kω0 t dt

B k = 1
T ∫0

T
x (t) e+ j kω0 t dt

x( t) = A0 + ∑
k=1

∞

(Ak e
+ j kω0 t + Bk e

− j kω0 t)

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t))

x(t) = A0 + ∑
k=1

∞

(Ak e
j k ω0 t + Bk e

− j kω0 t)

A0 = a0

Ak = 1
2

(ak − j bk)

Bk =
1
2

(ak + j bk) on
ly

 p
os

iti
ve

 
fre

qu
en

ci
es

pos freq

neg freq

zero freq
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Complex Fourier Series

x(t) = ∑
k=0

∞

(Ak e
+ j kω0 t + Bk e

− j kω0 t )

Ak = 1
T ∫0

T
x (t ) e− j kω0 t dt

k = 0, 1, 2, ...

B k = 1
T ∫0

T
x (t ) e+ j kω0 t dt

k = 1, 2, ...

x(t) = ∑
k=−∞

+∞

C k e
+ j kω0 t

C k = 1
T ∫0

T
x (t) e− j kω0 t dt

k = −2, −1, 0, +1, +2, ...

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t))

x(t) = A0 + ∑
k=1

∞

(Ak e
j k ω0 t + Bk e

− j kω0 t)

A0 = a0

Ak = 1
2

(ak − j bk)

Bk =
1
2

(ak + j bk)

k = 1, 2, ...

C k =
A0 (k = 0)
Ak (k > 0)
B k (k < 0)
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Single-Sided Spectrum

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t)) x(t) = g0 + ∑
k=1

∞

g k cos(k ω0 t + ϕk )

= cos(α) cos(β)

gk cos(k ω0 t + ϕk ) = g k cos (ϕk ) cos(k ω0 t) − g k sin(ϕk) sin(k ω0 t)

cos(α+β) − sin (α) sin(β)

a k cos(kω0 t ) + bk sin(k ω0 t)

a k = g k cos(ϕk)

−bk = g k sin(ϕk )

a k
2+ bk

2 = g k
2

−
bk

ak
= tan (ϕk)

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

g0 = a0

gk = √ak
2 + bk

2

ϕk = tan−1 (−bk

ak )
k = +1,+2, ... k = +1,+2, ...
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Phasor Representation (1)

a0 = 1
T ∫0

T
x(t) dt

a k = 2
T ∫0

T
x (t) cos (k ω0 t) dt

bk = 2
T ∫0

T
x (t ) sin (k ω0 t) dt

k = 1, 2, ...

x(t) = a0 + ∑
k=1

∞

(ak cos(k ω0 t) + bk sin(k ω0 t))

g0 = a0

gk = √ak
2 + bk

2

ϕk = tan−1 (−bk

ak )
k = 1, 2, ...

x(t) = g0 + ∑
k=1

∞

g k cos(k ω0 t + ϕk )

x(t) = g0 + ∑
k=1

∞

g k cos(k ω0 t + ϕk )

x(t) = g0 + ∑
k=1

∞

g k ℜ{e+ j (kω0 t + ϕk )}

x(t) = g0 + ∑
k=1

∞

ℜ{g k⋅e
+ j ϕk⋅e+ jk ω0 t }

X 0 = g0
X k = g k⋅e

+ j ϕk

k = 1, 2, ...

x(t) = X 0 + ∑
k=1

∞

ℜ{X k e
+ j k ω0 t}
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Phasor Representation (2) 

g0 = a0

gk = √ak
2 + bk

2

ϕk = tan−1 (−bk

ak )
k = 1, 2, ...

x(t) = g0 + ∑
k=1

∞

g k cos(k ω0 t + ϕk )

X 0 = g0
X k = g k⋅e

+ j ϕk

k = 1, 2, ...

x(t) = X 0 + ∑
k=1

∞

ℜ{X k e
+ j k ω0 t}

x(t) = g0 + ∑
k=1

∞ g k

2
⋅(e+ j ( kω0 t + ϕ k) + e− j ( kω0 t + ϕ k))

x(t) = g0 + ∑
k=1

∞ ( g k

2
e+ j ϕk e+ jk ω0 t +

gk

2
e− j ϕk e− j k ω0 t)

x( t) = g0 + ∑
k=1

∞ ( g k e
+ j ϕk

2
e+ jk ω0 t +

gk e
− j ϕk

2
e− j kω0 t)

x(t) = ∑
k=−∞

+∞

C k e
+ j kω0 t

C k =
g k e

+ j ϕk

2
(k > 0)

C−k =
g k e

− j ϕk

2 (k < 0)

k = −2, −1, 0, +1, +2, ...
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Two-Sided Spectrum

x(t) = ∑
k=−∞

+∞

C k e
+ j kω0 tx( t) = ∑

k=−∞

+∞

Ck e
+ j kω0 t

Ck = 1
T ∫0

T
x (t ) e− j kω0 t dt

Ck =
a0 (k = 0)
1
2 (a k − jbk ) (k > 0)
1
2 (a k + jbk ) (k < 0)

k = ... ,−2,−1, 0,+1,+2, ...

∣C k∣ =
a0 (k = 0)
1
2 √ak

2 + bk
2 (k ≠ 0)

Arg (C k) = tan−1(−bk /ak ) (k > 0)
tan−1(+bk /ak ) (k < 0)

Ck = 1
T ∫0

T
x (t ) e− j kω0 t dt

k = ... ,−2,−1, 0,+1,+2, ...

Ck =
a0 (k = 0)
1
2 g k e

+ j ϕk (k > 0)
1
2 g k e

− j ϕk (k < 0)

∣C k∣ =
a0 (k = 0)
1
2∣g k∣ (k ≠ 0)

Arg (C k) = +ϕk (k > 0)
−ϕk (k < 0)

Power Spectrum Periodogram
∣C k∣

2 +∣C−k∣
2 = 1

2∣g k ∣2 = 1
2 (ak

2 + bk
2) 2⋅∣C k∣ = ∣g k∣ = √a k

2 + bk
2

Two-Sided One-Sided
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CTFS of Impulse Train (1)

p (t) = ∑
n=−∞

∞

δ(t − nT s)

p (t) = ∑
k=−∞

+∞

ak e
+ j kω s t

a k = 1
T s

∫
−T s/2

+T s/2

δ(t ) e− j kω st dt

= 1
T s

∫
−T s/2

+T s/2

δ( t) e− j kω s 0 dt

T s 2T s 3T s−T s−2T s−3T s

1 1 1111 1

Fourier Series Expansion of Impulse Train

Fourier Series Coefficients

= 1
T s

∫
−T s/2

+T s/2

δ( t) dt = 1
T s

ωs 2ωs 3ωs−ωs−2ωs−3ωs

1
T s

1
T s

1
T s

1
T s

1
T s

1
T s

1
T s

ωs = 2π
T s
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CTFS of Impulse Train (2)
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p (t) = 1
T s

∑
k=−∞

+∞

ak e
+ j k ωs t = 1

T s
∑
k=−∞

+∞

(cos k ωs t − j sin k ωs t)

cos 2π⋅1⋅t sin 2π⋅1⋅t

∑
k=1

40

cos 2π⋅k⋅t ∑
k=1

40

sin 2π⋅k⋅t
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CTFS of Impulse Train (3)

p (t) = 1
T s

∑
k=−∞

+∞

ak e
+ j k ωs t = 1

T s
∑
k=−∞

+∞

(cos k ωs t − j sin k ωs t)

cos 2π⋅1⋅t sin 2π⋅1⋅t

∑
k=−40

40

cos 2π⋅k⋅t ∑
k=−40

40

sin 2π⋅k⋅t

-20

0

20

40

60

80

100

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

-1

-0.5

0

0.5

1

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

-1e-13

-5e-14

0

5e-14

1e-13

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

-1

-0.5

0

0.5

1

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2



Young Won Lim
8/18/11

References

[1] http://en.wikipedia.org/
[2] J.H. McClellan, et al., Signal Processing First, Pearson Prentice Hall, 2003
[3] G. Beale, http://teal.gmu.edu/~gbeale/ece_220/fourier_series_02.html
[4] C. Langton, http://www.complextoreal.com/chapters/fft1.pdf

http://teal.gmu.edu/~gbeale/ece_220/fourier_series_02.html

	슬라이드 1
	슬라이드 2
	슬라이드 3
	슬라이드 4
	슬라이드 5
	슬라이드 6
	슬라이드 7
	슬라이드 8
	슬라이드 9
	슬라이드 10
	슬라이드 11
	슬라이드 12
	슬라이드 13
	슬라이드 14
	슬라이드 15
	슬라이드 16
	슬라이드 17
	슬라이드 18
	슬라이드 19
	슬라이드 20
	슬라이드 21

